R RO AR SHTEEARKS Wit
No. 244, LUIEE S 248 D D24 B SRR LA S
AT R T — L LB R 7 BAARITRE167
1 peazxzan S LLIFE S () R7.5.1 R7.11.10 2,040,500 L 0 o
5 g&%ﬁﬁgaﬁ_%iﬁ>x+A¥1ﬁi$§%%§§ ki) R7 52 RS.3.31 2,000,000| T EBEIETA%167
& ED2FE1EFE2F
. - BEEE £ (ML b g
3 gﬁgzﬂuﬂwﬁﬁwﬁﬂﬁ&unmm@% ks | R7.5.7 R8.3.23 3,377,000 P BRI AE167
& A ZD2FE1IEE2S
A . - VY NFEEIHE) o e
WA T — L KERT AL |5 i M5 A AT S 8 167
4 BEIZD1 =7 “)L%IE‘E‘BE. R7.5.7 R7.11.28 1,016,730 EQ2E1ES S
¥ 507
5 RESRTHCRAHBEENSER | BAGFHEM) R758 | R7.7.30 2,574,000| *£77 BARIEITSE167
ZD2E11EHE2F
WHEHILN - PR T— LB L EBRTE | 75 BRAIRITRE167
6 BEBETZD r—X A (k) R7.5.9 R7.11.10 1,377,200 EQ2E 1 ES S
7 | ST EARELSHABESEE WETEAMS | R7.5.9 | R8.3.31 18,019,100 277 BRI HE167
FDO2FE1HE2S
g |BBMILNPERBMIRTREREE | ampemm R7.5.12 R8.3.31 1,905,459 iﬂzéféf’fm*?f%i,67
H ED2F1IEFE2F
S )/ R RIEEE H 5 A A AT S E 167
9 | RERRRBELHER i R7.5.14 R8.3.31 2,150,500 "~ S s
k1 4 et T = NV ETT-53 75 A AT S 8167
10 SHM7EE T HIMEERRT E R7.5.14 R8.3.31 16,570,400 EQ2E 1 ES S
BT EEANARR R (FREAF |, 7 BRI B 167
11 B E I ER ISR RR H B ENRI (k%) R7.5.16 R7.12.26 79,911,700 EQ2E1EES
. . = o — | BT iBJapan(t) sk He g A
BARREY—N\—-TSUrI+—LDE= T A BREEITRELE7
12 RO AT LSITRT %E’A%t U4 A| R7.5.20 R8.3.31 5,132,160 EQoE1EE2E
BREY ERREEHASEES |, BEETEE
|3 |EERERXICHAAREBHAFERE | o0 w7521 | re.ssL 2,185,040 I BRI AH167

it

ZM2¥1HE2S

1/2




BEHEELNOLAR snroRwns i
No. 28144, e 248 AN 2 E B 2RI S
s jm s
14 | INERIBHRRER (RE2H) BASMESE | R7.5.26 | R8.3.31 iz P ARG RE167
ZND2FE1IEE2S
SH7EEHTNBEXELEEE 01 | 0o e | M EAEETAE167
15 (B {EZ24) R FRAMmER R7.5.27 R8.3.31 Bi{fz244 EQ2%E1EE2S
SH7EEHIBERELEEEE 202 | cwis i irene | BT EAEIETSE167
16 (H ) REEFHER R7.5.28 R8.3.31 ==Xl | EQ2E1EE 2D
LB = % L ST (i 7‘D_U_(H&)IE M IO
7 gggiﬁﬁmﬁxﬁéﬁﬁ_Ln%iﬁ(%mﬂmm R 530 | R7.7.21 608,500 | HHEBEITEEH167
= HEXIE ZD2FE1EE2F
A=) % * AR =3 7'3_')_(**)@ 353 4= N
18 |BRBEERSEMIISRE RRBE j)o =~ & | R7.5.30 | R7.6.23 814,000 | BT EMAIRTHEL67
SEEES) HRE X E END2FE1EE2S
S 7EEDDOL 5 ER - SssEmmx |(FLOCAL M5 A AT S 8 167
19 |25y nmenam SUSTANABLE | R7.5.30 | R8.3.31 1,970,000 | = O s

2/2




